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Ans  of 169
X 2.76
75 3.71
K 472
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Q.3 fr=fafRa v, fag g faeredl @ wwaf~Ae siigpfer a1 a1 w3

N AT A N .

Ans

Question ID : 5038906053

Q.4 fag g faepedl A |, S0t d qw ug & FTA R

B2Y,F5U,J8Q,N11M,?
Ans X' 1.G17H

o 2.Rr14
/X 3.P15J
X 4. H19F

Question ID : 5038906037

Q.5 A& = g Aot d g d=r FIA R

10, 22, 46, 94,7
Ans X' 1 184

75 2.140
/X 3.180
of 4190

Question ID : 5038906049
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Q.6 Tfy+ araref'+' g, xohr aref '+’ @, + a1 o1ef '—' g 3R — &1 aref 'x' @, &t fe=ferf@&a geftenzor et
A AT

16-4+12%x3+57?

Ans X1 67
/X 2.53
o 3.65
/X 4.59

Question ID : 5038906048

Q.7 47 arepfar F fhem Proget 82

Ans X 18
K 2.16
/X 310
o 212

Question ID : 5038906055

Q.8 ==l i g dfvh & Sifsf 9ig @ 5ai 3R dier 2w & 12 ai diraf ez sitst sz &= T
TYTERE gH M &t a8 g ofd & 103 AT R gt Srgw | ufh & sreal Y Fer deean fopart 82

Ans o 1 24
75 2.23
X321
X 422

Question ID : 5038906043
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Q.9 fr=fefEd 3 e &, TR R Treteh! Y Tt fora & Sit foh arges off Terrd & |fer op Al
TATH?

eI

Ans X' 1.78
W 253
/X 3.85
/5 4.88

Question ID : 5038906050

Q.10 = fag g usr &, g} YA & are faerent d =R fAsend feg g &1 enuest fw o wu=i wt g
AT &, Wt g & GefwTa azat @ 3= uchta gt gl | aft st &t afeg finr aa fifSig fas feg
TQ fAeRuT & @ 1 I dhETE FU F SER0T el §, e daATd a2 G Wi gl

Y-
gt dfvrat, ga @
g g, e @ 8l

Ans (Laagqﬁ;,a;j—cﬁqgfg
/X 2. Tof dfhat, e g
X 3. g ddqm, TRt
X 4.FoTH, Mg d

Question ID : 5038906045

Q.11 feu ng faeredt & @ Hafde e &1 997 3|
b 1= 0 ol o R [ o i
Ans (1_@1;1}

K 2w

/< 3.7

X 4@

Question ID : 5038906040
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Q.12 2 fag g ua & &) iy ik I arg &) fasendf fag o &1 snuent fEw g Syt &t G AT

Ans

g 9 & 3 gdTra aat @ faeT wefta gt g1 o+t frert o6t ufeg iR aa fifSig 6 g g
frreeruT & & Sl |1 ahET U S SJERT el §, e ga9Td a2 $o W gl

HYT:
o oo, ma g1
FS &Y, M &l

forseptS:
I. 3o oo, wu gl
1. gft et o at e ar Fu )

25 1. af Shaer o 11 SREERoT e &

W 2. 9R 7 e | ok 7 & 11 srERoT aRaT &
25 3. af et o | SrgERoT e

75 4. afar at frsee | 4 Il SERoT gl §

Question ID : 5038906046

Q.13 fag g usr &, sy A faf v sragal & S dady &) g2afar mar &1 wya & arg &) fewd fag o

Ans

&1 fag g =T & emeunR wR fAswuT @1 sremg RS ofik 34 swr 6t gfaw)

<h Y.
Z<M=z=Y=N>L

forseptS:

I.Z<L
In.M>L

25 1. 3 SRR g &

o 2. dae 1| SR g &
25 3. Tl | 97 | SIgERYT AT @
7 4. are | SIERYT AT

Question ID : 5038906047

Q.14 39 AT kT TG e SN ForAferfEd # i gweser o) g2ufar g:

Ans

ez, smgHt, foar

Question ID : 5038906051
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Q.15 @I &t IR 3frepfa, wer siepfar & ufeesy &l @1 Hwf?

Ans

Question ID : 5038906054

Q.16 fg g fameut & &/, Soft d o 12 @) ATa HRA
T,Q,L1,2,AV,?
Ans X' 1.0,M
X 2.0,N
X 3.RQ
o 405

Question ID : 5038906038

Q17 TMH I BIM, GHragdIS,RATWER, S G R =N gIL, T &1 far g1
S, L & for wepR Haifda 82
Ans X 1. 2aR / grel / SiEE / e / g
25 2. /AT
o 3. sy

25 4. =T/ g/

Question ID : 5038906044
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Q.18 3reftar uer FfRa fiig @ o= Y 9k 30 Rt wrelt 2, v oro ard A & g &g 15 Rt ot
21 39 a1g ag v &1t 3R gEarw 30 faret el @1 ag oo e el faig @ fora fyam 7 @2

Ans X1 zferoryd
2.9
X3
X 4 s

Question ID : 5038906052

Q.19 g g usr &, fag faereu @ wwif e 2reg Tig &1 a=1 ffSd

pRSq :tVWu::iKLj:?
Ans o 1 mopn

x 2. Mpon
75 3.MRSq
x 4.msRq

Question ID : 5038906041

Q.20 &gy faereat & & fawH 21eg &1 =@ &I
Ans X1 =l

o 2. @
X 3.3
X 4.9 (W)

Question ID : 5038906039

Section : General Awareness

Q.1 feda forem a=ar = forw woa & geawsh & ®u A ey ot 82
Ans X' 1 Rfeen

75 2 FREs
75 3. g

o 4 smm

Question ID : 5038906073

Q.2 guTar T A fehaw uTH S 5T A gt T7en (e /) i 7w | @2
Ans " 1.10000 7
o 2.1000 7m

75 3.100 7M™

75 4.100 feetom

Question ID : 5038906064
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Q.3
Ans

T TETST faRads a1 J &thet & AT H 31U WA WR UgH T A1?
25 1. 98T 218 TR
/X 2. amgeTel
o 3. s

X 4. IR

Question ID : 5038906068

Q.4
Ans

frrferfaa 7 9@ fora aafxr 3 "dugqa” e foredt 82
o 1 FfeE
X 2.3
/X 3.3
X4.$ﬁ‘5’5f:

Question ID : 5038906071

Q.5
Ans

IPL 2021 T UgelT &4 gl Wt T UT?
v
X 2.4
75 3. dmeiR
75 4. 74 Rl

Question ID : 5038906076

Q.6
Ans

frraforfEra 7 @ fora safen i aretor des aivemear HY wmaeT &1 S fear srar 82
VAR
/< 2. s sfarst
/< 3. 3@ sy
/X 4. Higme ggweTd

Question ID : 5038906060

Q.7
Ans

frrferfRa 7 @ foram " srgaa” &Y sraeRom wer= &i?
X 1. BT g e
/X 2. mer dig o
7% 3.5
o 4.9

Question ID : 5038906058
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Q.8 YA & fwet ae uis & A= forads mw= d awarar mar ur?
Ans (1.21?%11‘5’14;&

X 2. 3R

75 3. amgerel

X 45

Question ID : 5038906067

Q.9 HRA S AL & T =T~k 19 T 87
Ans X" 1 goRTfRded

o 2. v iR

X 3 agwde

X 4 e E T

Question ID : 5038906063

Q.10 sStenfemegdawad________agafadi
Ans o 1 iR

X 2gm

75 3. uFd

K 4=

Question ID : 5038906061

Q.11 Fr=afofEa d & o= wira & gor agafa 42
Ans x1_@r:‘;gg

fz.wﬂu@mq

75 3 @ AR

75 4. Stasie v

Question ID : 5038906069

Q.12 T.&.bt. ("= 9 |) 1 gEared wgl (AT 8?
Ans X1 =i

o 2 =

< 3. Rets

/X 4.9R=

Question ID : 5038906075
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Q.13 S[12021 dch SU SIT-RTRY & SIFETR HIRd & g arareiar o= §?
Ans  of 1 gadt T

X 2. vgy s
25 3. % Mg
75 4. & s

Question ID : 5038906070

Q.14 frafofaa d @ wtwh Ao gaer f= g1 a7 &2
Ans (1.33@3:[

X 2.d9e

75 3. e srRsiaTgs

/X 4. 415eq Siferss

Question ID : 5038906062

Q.15 ur-itua &1 g g for af gam ur 2
Ans 5" 11629

X 2.1576
75 3.1656
of 41526

Question ID : 5038906066

_________ Y 1968 # fAifehedr o forg e greeriz & wwTfaa forar mam a1
Ans X' 1 gsmugH R

o 2. sitfiie gz

75 3. dedReR depe

X 4. smd d

Question ID : 5038906072

Q.17 frafafEa d & a9 sler AgrarR &= a1 8?2
Ans ( 1. SR HE™ANR

75 2.y HgrRITR

/< 3. Re g

75 4. s HEER

Question ID : 5038906065
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Q.18 T ¥U H IR & argERIa & fAare & wu & s=rar w1, wgafa wia= w1 fAwfor foeg ad & gu
goIr um?

Ans X" 11941

W 2.1929
/X 3.1925
7< 4.1889

Question ID : 5038906057

Q.19 HIRHT QI HALTUT T AT Fgl [ed §?
Ans X1 tgd

X 2.9

/X 3.7en

o 4 TRl

Question ID : 5038906059

Q.20 3ifrea srg FROtfé gorreft 3Rs e aret ugeT WIRda ASg i a1 82
Ans X 1 aftierrg

X 238

o 3. emm

/X 4. ufm e

Question ID : 5038906074

Section : Arithmetic Ability

Q.1 ek AT« &1 O 3 T Ugel AT T AT| STeh) Fa1S Udeh aef 10 ufaerd 6l &3 @ 5 S 81
afg adara 7, Oz it Sarg 958.32 T+t §, at STa U AT AT OT ad g6ht Hans forae oft?

Ans K" 1,820 @t
/X 2.840 AR
75 3.780 &h
of 4720 &

Question ID : 5038906083

Q.2 wiF-dt g afA Frenzor sarst @ 5 au’f & 520 TUB 341 7 aut d 568 Tud gt srwi?
Ans  of 1 400 =R

X 2,420 wu@
7 3.480 w0
/5 4.500 =u@

Question ID : 5038906088
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Q.3 T Ty § Aeft 3R e Y ey 1 3R 4 adf g aur 8 avf & arg IR Iy HT Heif
SIJUT TRARN: 6:7 G| a1 Ta | At 3z ferw Ry sy ar i foram 82

Ans X' 1 304Y

/< 23499

/X 3.38ad

o 4. 36a

Question ID : 5038906087

Q.4 f=fafae = 4 @ 9 ord 9= 3 fifsa

Ans . >
1. —

Xz
X222

4935

VEE

33

X4E

613

Question ID : 5038906081

Q.5 ue firew &1 smaa 288 @3 i s 24 A+ @1 FBrew & smenz &1 Sawe A1 FifST
Ans X110 GHR

X< 2 14 7HR

X 315 9#R

W 4 12 3R

Question ID : 5038906093

Q.6 145 sud ufd fereitura & fgara @ =g Y |13 vt 18 ufderd & &1y R =i SIreht @ efir =
SraeR SfSfa i 1 et 197 1566 FTud €1 a=ft 7 arg < Aran fratt @ 82

Ans X" 1. 40 feeeitamm
W 2. 60 R
75 3. 50 feitum
75 4.70 e

Question ID : 5038906085

Q.7 g wHug & fremoif & i a1 sier 7 St @ 3R sHenT ket 184 A2 1 fRrerof a1 weifa
srgurd faRerT ghm?

Ans  of 12316
X 2.22:15
/X 3.24117
X 4.32

Question ID : 5038906092
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Q.8 R sIe d gk gow i 7fer 16 frei/eer & stafen urr Y wifer 12 fomefit/eier 81 ag o3 & foodia
e & ven PR 8 aa wear @ ok araw o o &, Rrads g 3@ gt arn 7 90 e e

€1 I ZIRT 7 Y 7€ Goh R <hl gt AT hifSrgl
Ans X' 1. 450 feft
of 2.5.25 feft
/X 3.5.75 famht
75 4.5.00 faht

Question ID : 5038906089

Q.9 fre=ferfEa arfere o1 wargdes sreaas hiforg iz i fag g ust &1 W €ifSg)
Ui SfT- 31T hictoll A fafN= fawrat J faenfdat @ nfasra faeror

v - faenfdat

Fleiot | HIEH | F1AG | o= .

D HEIT
A 23 35 40 17500
B 15 45 40 25000
C 15 30 55 35300
D 28 48 24 23000
E 29 30 41 32400
forer spfctat A fomm= fawa & qad @ S | fremef 82
Ans x-]_B

X 2.E

W 30D

X ac

Question ID : 5038906095

Q.10 200 =i, w<it ek 27 36 fop. /62 @ a1 T & 57t Uah faIs1 ot 55 ehs H urR weell g1 forsr i
s Ara hifegl

Ans X" 13207
/< 2.300#.
o 3.3507

75 4,400 #.

Question ID : 5038906090



https://t.me/DSSSBTEACHERS1

Q.11 e wier |, S<tof g9 & forg et 240 sich Ut &=AT STavash &1 Goh ST &t 192 3ick fAea &
3R IY 12 uferera sicnl @ ther afYra forar sirar &1 gk o1 &Y sifderaw et foram s faer
ghd g?

Ans X" 1.360
75 2.480
/X 3.420
o 4400

Question ID : 5038906084

Q.12 Ueh e | 35 faenfdai fir siwa sy 16 adf g1 21 faenfai &t sifaa sng 14 adf g1 v 14
forenfat i siwa emy farartt 82

Ans o 1 10
X 2.17ad
/X 3.15a9
/< 4189

Question ID : 5038906082

Q.13 & fAsom, A ofik B # shu2r: 6:5 3z 3:1 & orgura # gu ok ur-t &1 afy 1= s  gu
el ATAT 72 iR g 3 g1 fAsron & ur-h Y et Aran 36 +fiex @, @t Asror A i A TTE
Hifaql

Ans " 1 553
X 2,66
/X 3.33%=
o 4 1aAR

Question ID : 5038906086
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Q.14 fa=fef@a arfere @ wargdes srega RS sz = fig g ust 1 swR §ifSgl
i 31eT- 31 ahietoil A fafd= fawat & faenfat ar ufasra faazor

Fider | HEW | FiAYG | fa=meT S i
T A&
A | 25 35 40 17500
B | 15 | 45 40 25000
£ | 15 30 55 35300
D | 28 | 48 24 23000
E | 29 30 41 32400

Tt spictsil # Gk A1y A fowg & faenfat i oftaa dwear farash 82
Ans X' 19735
#< 2.9625
/X 3.9720
of 49745

Question ID : 5038906094

Q.15 &} =isrent x2 + 2x - 3 3T x2 - x — 12 & HgAH GGG T &7

Ans X1 (x-3)

Question ID : 5038906079

Q.16 &g g =ivre d ust g (?) & AT W AT 3MTm?
240 @1 12.5 ufaRrd + 27 &t 200 ufaRra =2 x 12
Ans  of 17
75 2.9
X 3.6
75 4.8

Question ID : 5038906077

Q.17 15 U9 Ueh &hTH ohl GRT et A 30 & 1 99T 91T § 1 I8 Qeh ATY h1H R e @ 9% 20 &=
are 351 Aegd forar for daer 50 uferera &1 g O gon &1 S & T W IR @A & g
foram arfafies gol &l 1 R @A Y smavaear g2

Ans X125
5 2.10
W 315
5 420

Question ID : 5038906091
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Q.18 fa=afaf@a ust & ust fArg (?) & w19 W 41 |19 3TYEm?

18 .. 95
— ¥ — K =04
w5 - 34

Ans X' 1.996

o 21008
/X 3.1012
75 4.1006

Question ID : 5038906078

Q.19 9=™ S1é gof g Ara & St 12, 15 ik 18 & fennfSa gt
Ans  of 1 27000

75 2.64000

X 3.1728

/X 4.5832

Question ID : 5038906080

Q.20 ez mar wré fanelt ges f =€ et Yora R & faf e wiewTal @ o areft e 3 ofir
QeRTIN 3 Y T ot fezaran @1

e i S A

80
70

30

30 ~
20 1
10 -

1 2 3 4
CHEETH

TewTH 1, 2 3R 3 & o1 arelt ddeR ¢ i oftaa swar Ara Fifsgl
Ans X152
/X 2.48
o 3.56
/X 4.58

L

Question ID : 5038906096

Section : General English
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Q.1 Select the wrongly spelt word.
Ans J 1. Religous

x 2. Punctual
x 3. Sacrilegious

x 4. Conscientious

Question ID : 5038906108

Q.2 Select the most appropriate meaning of the given idiom/ phrase
Get out of hand
Ans X" 1 getupset
x 2.to complete a task
x 3. give up something
J 4. get out of control

Question ID : 5038906110

Q.3 Select the correctly spelt word.
Ans  of 1 Affidavit

/5 2. Affiddavit
/X 3. Affeidavit
X 4. Affiedavit

Question ID : 5038906107

Q.4 Select the most appropriate option to fill in the blank.

Any exercise which involves you supporting the weight of your own body
recommended to build bone mass.

Ans X1 was
x 2. are
/X 3. were
o 4is

Question ID : 5038906101

Q.5 Select the most appropriate option to substitute the underlined segments in the
given sentence. If there is no need to substitute it, select No substitution required.

The police deployment was all round the Maujpur-Jaffrabad stretch but the cops

near the chowk who heard the inciteful songs allegedly did not make some attempt
to stop them.

Ans X" 1. No substitution required
X 2. round, next, some
x 3. around, next, any

J 4. around, near, any

Question ID : 5038906099
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Q.6 Select the word which means the same as the group of words given.
Murder of the king
Ans ( 1. Regicide
x 2. Referendum
X 3. Republic
x 4. Redtapism

Question ID : 5038906111

Q.7 Rearrange the following sentences in their correct order to form a meaningful
paragraph.

A However, Carol was not feeling well.
B There were many families relaxing on that Sunday afternoon.
C Carol looked through the window into the first-class area.

D Children were splashing about the pool and many were sunbathing or snoozing on
easy chairs.

Ans X' 1. ADCB
/5 2.cpAB
o 3.cBDA
75 4.ACBD

Question ID : 5038906104

Q.8 Select the most appropriate meaning of the given idiom/ phrase.

Die in harness

Ans X 1. Not feeling well, or feeling sick
x 2. Making a choice between two unpleasant choices
X 3.In good times and in bad times

J 4.to die while working or before retirement

Question ID : 5038906109

Q.9 Select the most appropriate option to substitute the underlined segment in the
given sentence. If there is no need to substitute it, select No substitution required.

About 2.17 million people were displaced in the first six months of the year — again,
due to extreme weather events.

Ans X 1 first six months

x 2. the six first months
X 3. thefirst six month

J 4. No substitution required

Question ID : 5038906100
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Q.10 Rearrange the following sentences in their correct order to form a meaningful
paragraph.

P. Biographies of great men can also help us in learning good manners.

Q. Courtesy and politeness are the key to good manners.

R. No doubt these are little words but if they are spoken at the right moment and in
a soft and sweet voice, they are bound to work wonders.

S. The use of polite words like “Sorry”, “Please”, “Thank you”, “Beg your pardon”,
“Sir” etc. creates a healthy impact on the minds of others.

Ans X' 1 PRSQ
/X 2.RPSQ
/< 3.SPQR
W 4.aPsR

Question ID : 5038906103

Q.11 Identify the segment in the sentence which contains the grammatical error from
the given options.

In most of the states forty percent of people under thirty is undernourished.

Ans x 1. forty percent of people under thirty

( 2.is undernourished.

x 3. No error

X 4. In most of the states

Question ID': 5038906098

Q.12 Select the most appropriate synonym of the given word.

TACITURNITY
Ans X 1. Changeableness

x 2. Preserve
( 3. Reserveness

x 4. Hesitation

Question ID : 5038906105

Q.13 Select the most appropriate antonym of the given word.

ORPHANED
Ans X 1. Deprive

75 2.Rob
/X 3.strip
J 4. Parented

Question ID : 5038906106
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Q.14 Select the most appropriate option to fillin the blank.

She saw his face and tried to determine how he felt, but his facewas __________ of
emotions.

Ans X" 1 vacant

x 2. omitted
« 3. devoid
x 4. barren

Question ID : 5038906102

Q.15 Inthe following question, four sentences are given out of which three sentences
are grammatically incorrect while one is correct. Find out which sentence is
grammatically correct and select the appropriate option.

Ans x 1. Maldives is working towards sustainable development and have become a part of
International Solar Alliance.

x 2. In his speech the Prime Minister has said that the terrorism are the biggest threat
today.

X 3. The Prime Minister was conferred the highest honour “Rule of Nishan Izzuddeen”
during his visit to Maldives.

« 4. A composite training centre and a coastal surveillance radar system were also
jointly inaugurated.

Question ID : 5038906097

Comprehension:
Read the following passage and answer the questions below.

Orlando, the youngest son of the recently-deceased Sir Roland de Boys, is treated harshly
by his eldest brother, Oliver. Bitter and angry, Orlando challenges the court-wrestler, Charles,
to a fight. When Oliver learns of the fight, Oliver tells Charles to injure Orlando if possible.

Duke Frederick has recently deposed his brother, Duke Senior, as'head of the court. But he
allowed Senior's daughter, Rosalind, to remain, and she and Celia, the new Duke's daughter,
watch the wrestling competition. During the match, Rosalind falls in love with Orlando, who
beats Charles. Rosalind gives Orlando a chain to wear; in turn, he is overcome with love.

Shortly after, Orlando is warned of his brother's plot against him and seeks refuge in the
Forest of Arden. At the same time, and seemingly without cause, Duke Frederick banishes
Rosalind. She decides to seek shelter in the Forest of Arden with Celia. T hey both disguise
themselves: Rosalind as the young man Ganymede and Celia as his shepherdess sister
Aliena. Touchstone, the court fool, also goes with them.

In the Forest of Arden, the weary cousins happen upon Silvius, a lovesick shepherd. Silvius
was in the act of declaring his feelings for Phoebe, a scornful shepherdess. Ganymede buys
the lease to the property of an old shepherd who needs someone to manage his estate.
Ganymede and Aliena set up home in the forest. Not far away, and unaware of the
newcomers, Duke Senior is living a simple outdoor life with his fellow exiled courtiers and
huntsmen. T heir merriment is interrupted by the arrival of Orlando, who seeks nourishment
for himself and his servant. The two men are welcomed by the outlaw courtiers.
SubQuestion No : 16

Q.16 Why did Orlando challenge the court wrestler Charles?
Ans x 1. because he wanted to learn fighting skills for the war

x 2. because heis very short tempered and eccentric person
x 3. because Oliver told Charles to injure Orlando if possible

“ 4. because he felt humiliated after being treated harshly by Oliver

Question ID : 5038906114
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Q.17
Ans

Comprehension:
Read the following passage and answer the questions below.

Orlando, the youngest son of the recently-deceased Sir Roland de Boys, is treated harshly
by his eldest brother, Oliver. Bitter and angry, Orlando challenges the court wrestler, Charles,
to a fight. When Oliver learns of the fight, Oliver tells Charles to injure Orlando if possible.

Duke Frederick has recently deposed his brother, Duke Senior, as head of the court. But he
allowed Senior's daughter, Rosalind, to remain, and she and Celia, the new Duke's daughter,
watch the wrestling competition. During the match, Rosalind falls in love with Orlando, who
beats Charles. Rosalind gives Orlando a chain to wear; in turn, he is overcome with love.

Shortly after, Orlando is warned of his brother's plot against him and seeks refuge in the
Forest of Arden. At the same time, and seemingly without cause, Duke Frederick banishes
Rosalind. She decides to seek shelter in the Forest of Arden with Celia. T hey both disguise
themselves: Rosalind as the young man Ganymede and Celia as his shepherdess sister
Aliena. Touchstone, the court fool, also goes with them.

In the Forest of Arden, the weary cousins happen upon Silvius, a lovesick shepherd. Silvius
was in the act of declaring his feelings for Phoebe, a scornful shepherdess. Ganymede buys
the lease to the property of an old shepherd who needs someone to manage his estate.
Ganymede and Aliena set up home in the forest. Not far away, and unaware of the
newcomers, Duke Senior is living a simple outdoor life with his fellow exiled courtiers and
huntsmen. Their merriment is interrupted by the arrival of Orlando, who seeks nourishment
for himself and his servant. The two men are welcomed by the outlaw courtiers.
SubQuestion No : 17

Which of the following statements is incorrect according to the given passage?

K 1. Duke Frederick banishes Rosalind, seemingly without a cause at the same time.
x 2. In the Forest of Arden, the weary cousins happen upon Silvius, a lovesick shepherd.
K 3. Ganymede and Aliena set up home in the forest.

(4. Rosalind disguised herself as the shepherdess sister Aliena and Celia as;th
young man Ganymede.

Question ID

: 5038906117
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Q.18

Ans

Comprehension:
Read the following passage and answer the questions below.

Orlando, the youngest son of the recently-deceased Sir Roland de Boys, is treated harshly
by his eldest brother, Oliver. Bitter and angry, Orlando challenges the court wrestler, Charles,
to a fight. When Oliver learns of the fight, Oliver tells Charles to injure Orlando if possible.

Duke Frederick has recently deposed his brother, Duke Senior, as head of the court. But he
allowed Senior's daughter, Rosalind, to remain, and she and Celia, the new Duke's daughter,
watch the wrestling competition. During the match, Rosalind falls in love with Orlando, who
beats Charles. Rosalind gives Orlando a chain to wear; in turn, he is overcome with love.

Shortly after, Orlando is warned of his brother's plot against him and seeks refuge in the
Forest of Arden. At the same time, and seemingly without cause, Duke Frederick banishes
Rosalind. She decides to seek shelter in the Forest of Arden with Celia. T hey both disguise
themselves: Rosalind as the young man Ganymede and Celia as his shepherdess sister
Aliena. Touchstone, the court fool, also goes with them.

In the Forest of Arden, the weary cousins happen upon Silvius, a lovesick shepherd. Silvius
was in the act of declaring his feelings for Phoebe, a scornful shepherdess. Ganymede buys
the lease to the property of an old shepherd who needs someone to manage his estate.
Ganymede and Aliena set up home in the forest. Not far away, and unaware of the
newcomers, Duke Senior is living a simple outdoor life with his fellow exiled courtiers and
huntsmen. T heir merriment is interrupted by the arrival of Orlando, who seeks nourishment
for himself and his servant. The two men are welcomed by the outlaw courtiers.

SubQuestion No : 18

Which of the following best expresses the opposite meaning to the given word
“Disguise”?

x 1. under cover
f 2. perceptible
x 3. masquerade

K 4. camouflage

Question ID

: 5038906116
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Comprehension:
Read the following passage and answer the questions below.

Orlando, the youngest son of the recently-deceased Sir Roland de Boys, is treated harshly
by his eldest brother, Oliver. Bitter and angry, Orlando challenges the court wrestler, Charles,
to a fight. When Oliver learns of the fight, Oliver tells Charles to injure Orlando if possible.

Duke Frederick has recently deposed his brother, Duke Senior, as head of the court. But he
allowed Senior's daughter, Rosalind, to remain, and she and Celia, the new Duke's daughter,
watch the wrestling competition. During the match, Rosalind falls in love with Orlando, who
beats Charles. Rosalind gives Orlando a chain to wear; in turn, he is overcome with love.

Shortly after, Orlando is warned of his brother's plot against him and seeks refuge in the
Forest of Arden. At the same time, and seemingly without cause, Duke Frederick banishes
Rosalind. She decides to seek shelter in the Forest of Arden with Celia. T hey both disguise
themselves: Rosalind as the young man Ganymede and Celia as his shepherdess sister
Aliena. Touchstone, the court fool, also goes with them.

In the Forest of Arden, the weary cousins happen upon Silvius, a lovesick shepherd. Silvius
was in the act of declaring his feelings for Phoebe, a scornful shepherdess. Ganymede buys
the lease to the property of an old shepherd who needs someone to manage his estate.
Ganymede and Aliena set up home in the forest. Not far away, and unaware of the
newcomers, Duke Senior is living a simple outdoor life with his fellow exiled courtiers and
huntsmen. T heir merriment is interrupted by the arrival of Orlando, who seeks nourishment
for himself and his servant. The two men are welcomed by the outlaw courtiers.

SubQuestion No : 19

Q.19 According to the passage given, whom does Rosalind fall in love with?

Ans

#< 1.silvius
x 2. Oliver

75 3. Duke Frederick

( 4. Orlando

Question ID

: 5038906113
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Comprehension:
Read the following passage and answer the questions below.

Orlando, the youngest son of the recently-deceased Sir Roland de Boys, is treated harshly
by his eldest brother, Oliver. Bitter and angry, Orlando challenges the court wrestler, Charles,
to a fight. When Oliver learns of the fight, Oliver tells Charles to injure Orlando if possible.

Duke Frederick has recently deposed his brother, Duke Senior, as head of the court. But he
allowed Senior's daughter, Rosalind, to remain, and she and Celia, the new Duke's daughter,
watch the wrestling competition. During the match, Rosalind falls in love with Orlando, who
beats Charles. Rosalind gives Orlando a chain to wear; in turn, he is overcome with love.

Shortly after, Orlando is warned of his brother's plot against him and seeks refuge in the
Forest of Arden. At the same time, and seemingly without cause, Duke Frederick banishes
Rosalind. She decides to seek shelter in the Forest of Arden with Celia. T hey both disguise
themselves: Rosalind as the young man Ganymede and Celia as his shepherdess sister
Aliena. Touchstone, the court fool, also goes with them.

In the Forest of Arden, the weary cousins happen upon Silvius, a lovesick shepherd. Silvius
was in the act of declaring his feelings for Phoebe, a scornful shepherdess. Ganymede buys
the lease to the property of an old shepherd who needs someone to manage his estate.
Ganymede and Aliena set up home in the forest. Not far away, and unaware of the
newcomers, Duke Senior is living a simple outdoor life with his fellow exiled courtiers and
huntsmen. T heir merriment is interrupted by the arrival of Orlando, who seeks nourishment
for himself and his servant. The two men are welcomed by the outlaw courtiers.
SubQuestion No : 20

Q.20 Why did Orlando seek refuge in the Forest of Arden?

Ans x 1. because he is warned of Charles, the court wrestler’s plot against him
X 2. because he is warned of Duke Frederick’s plot against him to kill
x 3. because he is warned of Duke Senior’s plot against him to capture him

( 4. because he is,warned of his brother Oliver's plot againsihim

Question ID : 5038906115

Section : General Hindi

Q.1 f=faflad @ gerart " AR &1 H1- here" o1 T 3 &2
Ans  off 1. SEgd o Em

75 2. 7Y T UTeH-TTOT AT

/X 3. 31id st gl

ZX 4. uxuTer o T aRAT

Question ID : 5038906130

Q.2 faAfefEa d @ g ad-t aret 2reg &1 T+ hifsg-
Ans X1 gfd

X 2. wfeard

/X 3. uReifde

o 4 suenE

Question ID : 5038906123
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Q.3
Ans

frfofEa d @ araa & g w9 &1 997 RS-
25 1. & SR wrar-faT & e et =Ry
o 2. 5 o Franfrar B e e AR
75 3.5 31 =raT ge el &t dam et @ifRy |
/X 4.8 3R Riarara & e e =Ry

Question ID : 5038906126

Q.4
Ans

fraforfEa 7 @ " uofgd” @ faets eree @ta-ar 82

AR

/X 2. gofamen
X 3g
X a.gER

Question ID : 5038906124

Q.5
Ans

faafafaa 9 9 fora arem A forma-fR=gl &1 9 vata farar mar &2

25 1. e, g3 ave TR g < |

2K 2. i TregTy @er-En, ugd 3R egerd 31
75 3. aegeafs, WM, waif & A A g wed 2
y' 4. I8 hal dch 31T, Shel Tal SiT FehdT|

Question ID : 5038906132

Q.6
Ans

frfefea 7 @ fadar e @1 9g= fifsg-
< 1mg
X 2.3
W 3 @

X 4ot

Question ID : 5038906119

Q.7
Ans

frrferf@a & @ wia-a1 g & wu 7 uged gl 8?

X 1.9
o 2. g
/< 3.9m
P R

Question ID : 5038906120
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Q.8 f=fefRa d | gfeeit 2reg a1 =g+ fifsig-
Ans X1 wie

X 2. yefa
o 3.

/X 4. urssren

Question ID : 5038906127

Q.9 fy=fafEad & wia-a1 fAffa deararas fagivor g2
Ans ( 1. fr g Tem

X 2. R A R

/X 3.9gads

X 4. Tk

Question ID : 5038906121

Q.10 f=fefEa d @ ar= & uehiR o 9g4 fifSg-
TIRaaT At & ZIRT AT el T YeArg S FeRd|
Ans x1zh—ciaﬁq
/X 2. Rrararen
o 3. T

/X 4. waaren

Question ID : 5038906129

== == = =

Q.11 feafaf@a & @ s=-91 e emnfe @R TfY o Iergor 82
Ans X' 1 ToeH

X 2.5

K 3.

W 4

Question ID : 5038906118

Q.12 fa=afafE@ad @ "daeeiia" &1 gafaarh e Hi=-ar 82
Ans &1 ofiht

X 2. s

/< 3.3l

o 4=

Question ID : 5038906122
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Q.13 fer=farf@Ea 9 & witenifs " siferera wfs =iz & @aror o o orf @7
Ans X" 1. 3iche aeH! o SIgd G R Tehell B

o 2. it st =T g 81

7< 3. 7 g st wt ot s e &

/X 4. 99 @ ifden i i HEear B

Question ID : 5038906131 ]

Q.14 fafafEa & @ sta-a1 area a3 areT 8?2
Ans X 1. foar it omg & At v T
/X 2. 19 a8 R ugar ae &4 o geh ot
75 3.5 3 g g g
o 4 BT et B 21

Question ID : 5038906128 ]

Q.15 f&u g araian & forg fa & 9 ge 21eg &1 9= hifSrg-
are ® Sitgr ar aegrar e sier-

Ans J‘];ﬂ'ﬂw
75 2. s

75 3. st
X 4. sada

Question ID : 5038906125 ]

=

Comprehension:

fffa werier o1 e Yde st e TRl & Icar GfSig-

TR A Udes e a¥g I 1 dek Yer & o e ek ag sita i fRfdean & ary arew & f@afq
g1 T & 3R e fawu axg 3 AT e fawey § fore I des ag Sfias sardt anfsreg &t =91
T §1 1 T T get St & fafdrerar & care st @t ot S s Rt Iufed A8 e
OTaT 3R R ot at I Sfiae B whepfa T et ofk Sitamr & sfta woef & T dhaer Yer At g o=
& o1 g uRoTH ST &, STt AReR-ga Y G o ga

TR & o 31fdes quesfia ag cafh & e gurf & g uer ot geansl o =eh a1 SNfasehR e BTef,
FIifR 39 R 3 A7 Y I FekaT ol gA-gH IR O RAR wefia R 6 sfiaw & a-ai 8 —es
TET ST &1 $Heh IURIA I JUT & fehe! GE-U&T i YoiT¥d I 5 g FoTHT Ul foh 778 39
o & fog Sa= &t =11 et el

SubQuestion No : 16
Q.16 Iufa Terian & IFJHIR, Haifdew gueig cafwr w82

Ans X 1. ger 9% Y e g aTel
75 2. ey g o e @ Al
o 3. zemef o T w0 R e e
75 4. et o SfISHR & are]

Question ID : 5038906134 ]
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Comprehension:

fffad Terisr s eyden ST et TSl & S Gifelg-

TER H Udeh YR a¥g I AT dh Yo & Fore Wi dIen g Sitae i fafdedn & g awer $ f@fa
TG §T & 3R Ideh fawy axg 34 A1 e fawy § fore I des ag sfiaw sardt anfsre &t f=-fa=1
el §1 1 T ot get St & fafderdr & care arisred @t fomT S s fAofa Iufedd 48 e
UTT 3R e ot df I Sfiae &t Wil 761 e 3R Sfia & Feita Tasf & &1 dhaet Yozt gandt I
& o1 gt aRoTm sradTel &, ST AReR-Ta Y g @ gem

TR & o 31fdek quesfia ag cafh & foram gurf & g uet ot geanst o e T SNfasehR e SIel,
Fiifeh 39 5 F AgST Sl IR TERAT Sl GA-GA e U8 RAR TaiRid foar foh Sfia & &lR-ae | Reh
TET ST T | e IURT I U o S1chel Ya-UeT i Goflogd s 39 a8 ToiHT ugT foh wsa 39
Tio & forg Sftae &t f=r-famt &t @

SubQuestion No : 17
Q.17 Iufae Terian & ER, geRaga ol ________ & 2l
Ans  of 1 Trie

X 2. s

X 3. @ty

p R

Question ID : 5038906136

Comprehension:

efafed merir @1 emydes sreae aR uAl & Ik Sfeig-

TR & Uden e a¥g I AT dh Y & for e dIen ag sitae i fafdedr & ary g $ f[@fa
F1Y §U & SR Udeh faey g St A e fawey § fore T aes g Sfiaw eardt anisre &t f=-fa=
&t &1 31 guref o guer Sftae i fafaear 7 cara g &t o1 ST 8T fofa Sufed T8t e
UTT 3R e ot at I Sfia= &l Wil 781 e | 3R Sfam & Fsita Tuef & &1 chaet Yax ht gendl
23 o1 gt gRorm Srasge} §, STt IRe-wa Y R o gl

TR § Ga 31feeh que-1a g <af<h & foras geimef & pfcid el ot Gendl dhe -IXeh T STIISRR & STe,
R 39 s 3 A i I Tkl ol G- s OF RaR H&fRid. o & sfias & ahia-aiR # e
TET ST &1 ¥eh IURTd I JUTf & STehet G@-UET bl Yoflofd . 59 dIRg TSI UST foh IS4 39
@i o folg Sftee el f=1-M9=T ahet @

SubQuestion No : 18
Q.18 f=fofRa o & Sudaa werian A fore ara & ufa wadh forar mar &2

Ans  off 1. aeue & aife & wf
X 2. 7R T AR AT
#< 3. Sfiae cardt s @ - @l
X 4. e & Rrsffa @t

Question ID : 5038906138
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Comprehension:

fffad Terisr s eyden ST et TSl & 3ok Gifelg-

TER H Udeh YR a¥g I AT dh Yo & Fore Wi Ies ag Sitae i fafdedn & ary amwer $ fRfa
TG §U & 3R e fawy aeg 3¢ A1 e fawy § fore I des ag Sfiaw sardt anfsieg &t f=-fa=1
el §1 1 T ot geet St & fafdrerar & care arisred @t fomT S s Aot Iufeda 48 e
T 3R e ot df I Sfiae &t Wil 761 e 3R Sfia o Feita Tasf & &1 dhaet Yozt gt I
& o1 gt aRoTm sradTet &, STt ARen-Ta Y g @ gam

TR & o 1fdes quesia ag cafh & foram gurf & g uet ot ganst o e T SNfAsehR e SIe,
Hfeh 39 5 3 AT i IR Faikal ol -7 IR G ARaR Heiid faan & Sfie & -l & e
TET ST T | e IURT I U o S1chel Ya-UeT i Goflogd o 39 a8 ToiHT ugT foh wsa 39
Tio & forg Sfae &t fmr-famt et @

SubQuestion No : 19
Q.19 f=afaf@ad | “ger” @ agl orf wia-ur @2

Ans X1 apiieR
25 2. srgdERan
W 3 Teh
75 4. s

Question ID : 5038906135

Comprehension:

Fefafed merir @1 emyds sreae a uAl & IR dfeig-

TR & Udeh e avg I AT dh Yo & Fore e den ag sitae i fafdedr & gy s $i f=@fa
TG §Y & 3R ue e g St €T des faey & 519 T e ag Sfie cardt arisred &t fo-fe
&t &1 31 guref o guer Sftae i fafaear 7 cara g &t o1 ST e oty Sufed T8t e
UTT 3R e ot at I Sfiae &l Wil g1 e | 3k S & Fsita Tuef & &1 chaet Yozt gendl
&3 o1 gt gRoTm Srasge} §, STt IRe-Ta Y R o gl

TOR # Gad i qus1g a8 cafth & [ aumef & S uet sl Yat i FXeh ol STfatahR &R STel,
Ffeh 39 s 3 AT i I Fakal &l G- s OF RaR H&fRid. o o sfias & &hii-aiR # e
TET ST &1 ¥ch IURIA I JUTf & STehet Ga-UeT bl Yoflofd . 5 dIRg TSIHT UST foh IS4 39
Gio & fig Sfta &t -9 e @

SubQuestion No : 20
Q.20 Iudad Terian & SR, Hied Suatiht oft gtar g, S ___ |

Ans X 1 g st A e @l
X 2. St a1 srest freran gl
o 3. Shta= & @ Perr
X 4. s e g e 8

Question ID : 5038906137

Section : Discipline1

Q.1 Fis o1 R e gdwuw srsian & R & srgepfeai dar A
Ans X" 1. eere S

X 2. ofa TR TR

7% 3. srafigry B1gR

W 4 A

Question ID : 5038906157
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Q.2
Ans

“¥[eAehl Sl HAT” A T TN FoRe oot Fagan & forg fomar mar g1
o 1. Aestart
/X 2. et
/X 3w

X 4. ggum

Question ID : 5038906141

Q.3
Ans

srstan et & Rafa e fagy  wferg
25 1. ST wrai & forg
/X 2. rctaor & farg
o 3. T we straf Rarsi & forg
X 4 g wE g

Question ID : 5038906158

Q.4
Ans

1954 =i # gAwRt Z1=1 srsiar & = Rl o1 werter fore wmw @ forar man?
of 1. 3R sifs it e
75 2. ek Eut Sk arstar
/< 3. @R R
75 4.7 g STk Y Sl S Sifh Srsia

Question ID : 5038906156

Q.5
Ans

e | & = Ry gvaar @ Safda 78 82
X 1T
v 2w
7 3. e
/X 4. et

Question ID : 5038906145

Q.6
Ans

3rtar Tt | et forast auf ek fasror s gam?
75 1.600
/X 2.400
o 3.800
/X 4.500

Question ID : 5038906151
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Q.7 RafQer RAeferdir_____
Ans X 1. g Hed e g
25 2. aifeRie et
Js.mﬁ:@mﬂm
/X 4. T e wvr

Question ID : 5038906142

Q.8 wreftem e fRm &:

Ans X" 1 e 78 & R
X 2. e 78 & R
W 3. TR T8 & R
X 4. sirar 78 & R

Question ID : 5038906146

Q.9 SiTdeR FwYUTSH F Hfifera sa siaes f sroiar 6 fora g A R @
Ans K" 1 1o e 16

o 2 R 17

75 3. 1o G 01

/X 4. T g 02

Question ID : 5038906155

Q.10 srstar T Y e T &:
Ans X" 1 1o g 20, 23
o 2 =9, 10
75 3w e 12,17
X 4qwrEEn 11, 12

Question ID : 5038906150

Q.11 Higa-S1-a1=t & ure ugpafar & e aret qg & o =z uggei &1 s 87
Ans X 1 grefl, e, s, Hrer

of 2. <f, aeft, e,

25 3. =, e, de, greft

/X 4.9, e, de, der

Question ID : 5038906140
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Q.12 w=Tarfor SO sreiar & fore ot & RABE 82
Ans X 1. 1A G 09

o 2 TE e 01

/X 3. qmEEn 17

/X 4w EE 10

Question ID : 5038906154

Q.13 #Higa-sit-ardt & e s fAfda affg gfa &
Ans X" 1 garer ol At

75 2.3

o 3.7
/X 4. ugufaaTy

Question ID : 5038906147

Q.14 srsian fafifReT A are=as R form qoerett A o g 82
Ans o 1 T EREN, 10

X 2. qwEEn, 2

X 3. E e 2, 17

X 4. qwrdEa 16, 17

Question ID : 5038906152

Q.15 afar & aroiar & et forarit R TEd &
Ans «1.6

75 2.19

< 3.1

75 4.21

Question ID : 5038906149

Q.16 #igd-Si-gRt & e gert i ufemr fore ueer @ fAfda 82

Ans  off 1 Aeradi(wiese @
)

75 2. @l uer
/X 3. o TR
75 4. %=

Question ID : 5038906139
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Q.17 Ry avaar & Hgpear- gus hY sirpfa I<hiof &:
Ans ( 1. 9% H

X 2.gffd

75 3. geumEi &

F REE

Question ID : 5038906143

Q.18 uwhtd fad) & €& it war wgerrat &:
Ans X" 1 sl g

/X 2. TR Fe
o 3. Rigerd e
75 4. eToT @

Question ID : 5038906144

Q.19 Hga-sit-art & wre ufRig i sit adfta dugrery 7€ faooht § wufga g, ag &
Ans X 1 aeht rfs

K 2 gt

o 3 TR TR

X 4 s

Question ID : 5038906148

Q.20 w=uIfor g5 & A d a1 g it <t enepfa fAfga g ag @
Ans X‘Laﬂ%'ﬁ?‘]’

o 2 B

£ 3. 3 v g

/X 45| s e

Question ID : 5038906153

Section : Discipline2

Q.1 it R A<t Arears o A<t Y g it ot anfia @?
Ans X" 1. e R Seft

X 2. SieagR R el

75 3. AmiR R At

of 4. frarrg R et

Question ID : 5038906170
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Q.2
Ans

sreagferen gararfaar e gu e« fda &:
P R
o 2 dguid
75 3. qwmE et @
X 4 da i

Question ID : 5038906160

Q.3
Ans

Tt R & v w8
75 1. R urdft
25 2. & daaai & R
75 3. e
of 4. e g oy

Question ID : 5038906159

Q.4

Ans

JTHAGRAT § TS 1Mk et T 2fief R ug smrepfa @ it wiefta wusTera fieelt & A R W

T
KR
o 2.3
/X 3 Eeh
X 4

Question ID : 5038906177

Q.5
Ans

STAYR Aeht ToT=AT Aeft A fore At Y SuRiet &2
X1 grEd
X 2. mrars
/X 3.8a1g

W 4. gas

Question ID : 5038906167

Q.6

Ans

T At & sifderier fom A &
X1 R Rt A
of 2. cifri &
X 3 qERETd
X 4wt d

Question ID : 5038906161
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Q.7 wiver s At it fope et & wipa dhe & w0 & |1 SATA 82
Ans x1_mm

X 2. e e

o 3. uErd O

/X 4. rsiga Aef

Question ID : 5038906172

Q.8 fa=fefE@ad @ wia-ar faug asrwrt R deh @ dafaa gt 82

Ans  off 1. aes Fer T
/X 2. e
75 3. zwrErE R
/X 4. e iR ¥

Question ID : 5038906164

Q.9 situgeayg & A<t o ufdrg R &:
Ans X1 g WG

o 2 den e

X 3w

/X 4.

Question ID : 5038906169

Q.10 =i A St it wpa forartt eiferai &2
Ans X115

75 2.3

< 3.6

v

Question ID : 5038906166

Q.11 S12iteR Shreft= &l & famfor # vger g &:
Ans X 1 deR TR

o 2. TR & T TR

75 3. P TR

75 4. %mge

Question ID : 5038906176
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Q.12 u=edtg &g A LAt i
Ans X 1. gt Seht

o 23S S

/X 3. gers gt

/X 4. mRars Aot

Question ID : 5038906168

Q.13 Cultural renaissance period in Indian history is considered to be in:

Ans X" 1.14th century
X 2.11th century
x 3. 13th century

« 4. 15th century

Question ID : 5038906163

Q.14 #gT91Rd o1 fRAfSd wreft Tuiaror &:
Ans X 1. SR

X 2. mgam

75 3.7 srerht

W 4.z

Question ID : 5038906174

Q.15 HIAHTAIT HeAT Sl IsaaH TR W & ST T ST ST &
Ans X 1. Ture frsuped @Bt

W 2. e st @

X 3 aga

75 4. e e

Question ID : 5038906175

Q.16 adf & 12 #&=t 1 kg aof= /arzgaran fReor forg Aeht & sifdrer gan?
Ans X 1 SiaqR

v 2ad

/X 3.8a1g

X 4 s

Question ID : 5038906171
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Q.17 fra et fRrsr isft & forg <rem arda Rig & aimers &t Agaqof A1=r sirar 82
Ans X1 SEgR

X 2. siegR

X 3.

o 4 g

Question ID : 5038906165

Q.18 |IRATY & Fil et SR R sifeha 71 1 Sich=T uelten @
Ans (1.@3&

/X 2.3 & R

75 3. 9 & gear

P R

Question ID : 5038906178

Q.19 fore A<t A fRreRr™t a1 wigza oo wemepsor UT?
Ans X" 1 cae Sl

75 2. o et

75 3. gt S

o 4 T O

Question ID : 5038906173

Q.20 uSIATH At F R uuw aieft &
Ans X" 1 gad

o 2. wa e

75 3. =R derfie

< 4. T

Question ID : 5038906162

Section : Discipline3

Q.1 @y urfthew | anfae &:
Ans X1 widurd!

K 2.3

/X 3. ufdem

W 4 i R a@d

Question ID : 5038906180
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Q.2 &emer e & fAey Gdfda &:
Ans X 1. 1T e

75 2.9 enf
/X 3. dig e
W 4 da e

Question ID : 5038906192

Q.3 iy wwgar o ais &1 g9 fora @ area gan &:
Ans X" 1. effereRT (gUaT 9T ToRI)

o 2. s (geam)

X 3. getea

/X 4. gFamh

Question ID : 5038906198

Q.4 2AFETR g1 i Iuerey Fawt urhtT ufem T srsiazrg f Gfeh w fora e & oft st sren @2
Ans X" 1 erigR & Far

o 2 e F gy

/< 3.dRad

X 4. uemE g

Question ID : 5038906186

Q.5 wiumre &1 g wfeR fora wvrer & fAfa gam?
Ans o 1 e

X 2.9t

#< 3.0

X 4ar

Question ID : 5038906190

Q.6 e Ueld IaTar gt Aaur Jf fAreu gl fRag?
Ans X" 1 gferther

X 2. g

o 3 TR

K 4 e

Question ID : 5038906191
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Q.7 wiune g d@fez 7 sifera ara a3 uedte &:
Ans X1 RIS

X 2.9

v ENE

F R

Question ID : 5038906189

Q.8 #wyRT & gferai fAfFa &
Ans X1 e TR @
75 2. e R
/X 3. TR
¥ R Cich L

Question ID : 5038906181

Q.9 daUiEg Y FHgl T d?
Ans X1 geafiR
X 2.9m
75 3. Rt
(4.@@?&3@

Question ID : 5038906188

Q.10 Ay & &g et & ifafves fore wentz &Y = gferai orer g$?
Ans  off 1 s el e w8
K 2.9

/< 3.qwE

X 4.9

Question ID : 5038906184

Q.11 ¥Rgd QU &t @I fopea hr?
Ans X1 it msfe
o 2. iR Fh
/< 3R
25 4. e e it

Question ID : 5038906182
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Q.12 FRIT Hr gfigaqar d &:
Ans x1§a
(2.31331?1
75 3.2
X 4. 30

Question ID : 5038906196

Q.13 PRI TT Y @IS el 57
Ans X" 11876

o 2.1797
/X 3.1816
/X 4.1840

Question ID : 5038906183

Q.14 AETIATYRH T GERT A &
Ans XT‘T%'WER“

X 2. arrgd

X 3. e

¥ R

Question ID : 5038906197

Q.15 EIRIA ATt 3R A@TAZTH Tl BT Haiel 8
Ans x1_ngqqa;m

X 2. Tt wu & grr

o 3 Riymaa & zrr

/X 4. uxEw & gE & gR

Question ID : 5038906179

Q.16 fora wieeta fRmrenTz & Rl d aduw gRtdia geare @ waara faad far?
Ans x1qqqu;§@:r

/X 2. Siff s—eR

75 3. mgER

(4.mﬁa=nua@

Question ID : 5038906187
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Q.17 Gefither fo9 a1g R R4 & S9a =19 oT:

Ans X 1. aifSier
X 2. &
VRS
X 4. d7gd

Question ID : 5038906193

Q.18 Gefither =1 ufdig fA=a &:
Ans X1 goR
X 2. ageh frsy
75 3. srefdaar
(4. SRR

Question ID : 5038906194

Q.19 fore e # wduaH gg 6t wra i w6 17

Ans X" 1 TiuR

X 2. =g
75 3. R

o 4

Question ID : 5038906185

Q.20 @iorreh &1 31ef &:

Ans X1¥§f€maﬁw
X 2. g o g
o 3 @ a
75 4. g o ok

Question ID : 5038906195

Section : Discipline4

Q.1 iR et & SfAuet a1 sich fora Tu A fora maT 82

Ans «1.waﬁaﬁra?g
X 2. 4 & =
/X 3. Tt & THm
/X 4. 3 gt Reked @l &

Question ID : 5038906204
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Q.2 HEISIgRA & T[T HiR 39 98 Tell &I & U A ufdg &:
Ans X" 1. T el

o 2. uea T

7 3. < @

/X 4. TraarE e

Question ID : 5038906218

Q.3 famfefRa & @ aur aferg wsa & oo 76 & qe R fRyag?
Ans &< 1 RifiRar

X 2. awerh

o 3. Rt

X 4.am

Question ID : 5038906216

Q.4 gzt ik wer & wanfaa gfderer A<t wges:
Ans X‘I_g;q'ru'[ﬂ?ﬁ'

X 2.7y Af

o 3. TR S

/X 4.5 AR

Question ID : 5038906217

Q.5 W AT T FUhT 8?2
Ans x1\—,|gp-nqa;k—,r

o 2 sEREE

75 3. gard et

/X 4. gsTE e

Question ID : 5038906210

Q.6 1905 # 3itf¥dee e drarsd &t wuTgAT fofa h?
Ans X1 seee i

o 2. sz s

X 3.

X 4.2

Question ID : 5038906214
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Q.7 fafef@a d @ &t w1 & 99 | <t ST SIren 82
Ans X 1. st

X 2.am

75X 3. 3rfn

of 4 @t

Question ID : 5038906207

Q.8 uyy, &t famiena fore mret aneres & et & waiffes gam?
Ans X' 1 gar

W 2 R

75 3. arpeR

/X 4. mgsTEt

Question ID : 5038906201

Q.9 frad @ wia-off gt g A AfeR @2
Ans x1_m

o 2. e

75 3. sfaEmr

/X 4. Riftfan

Question ID : 5038906203

Q.10 =hiTreT dieft & Tzafeh 82
Ans X" 1. 7T A wig
< 2. Femdg
o 3 T EER T

/X 4. 3o ared Rig

Question ID : 5038906202

Q.11 HIReg GISTTROT ShTe & Hola &
Ans X 1 @iy HopER

75 2. 3 3 gt

X 3. ey TR

o 4. otz BIER

Question ID : 5038906215
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Q.12 s At & vy volar & &
Ans X 1. =ffgaTy B1gR

7% 2. ey AeperR

W 3. orefieaTY BIER

X 4. Mz SR

Question ID : 5038906213

Q.13 S Aeht & o Fopey & waifda @2
Ans X1 dwrg

/X 2. &g ggrEE

W 3. At iR

/X 4. 99 arh

Question ID : 5038906206

Q.14 mg=raT ufdig et A dieft 8:
Ans X' 1 qgsigl e

/X 2. g et

o 3. s F

/X 4. gt wref

Question ID : 5038906209

Q.15 3T T urhi= =19 &:
Ans X‘]W
/X 2. AR
X3.amﬁﬁgw

o 4 s

Question ID : 5038906200

Q.16 3icheR & IR T UG AR UT:

Ans Xym:f@q
/X 2. 3 Bt
X 3. orge g
W 4 s

Question ID : 5038906208
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Q.17 &f&yor urea i ufrg wiw ufew 8
Ans  of 1 s

X 2. i

/X 3. i

X 4.3a

Question ID : 5038906199

Q.18 3rsiar &1 ufig w1 fAs "wRoTTa= aeigart” fore T A Rifva &:

Ans o 1 ETRE 16
75 2. T g 02
75 3. g 17
/X 4. T EeEr 09

Question ID : 5038906211

Q.19 <fiar ik forr uret for &g Ry A<t & v Rz 42
Ans &K 1S deft

/X 2. TR At

o 3. o S

/X 4. s e

Question ID : 5038906205

Q.20 ufdrg s a1t @ fReror fore gore fRsre: 3 foRar?
Ans X" 1 s @

X 2. Rgsre

/< 3. g

W 4

Question ID : 5038906212

Section : Discipline5

Q.1 gAR! ZIvr Gifda * sryen IRFAe sierfeha af’ @:
Ans X" 1.1976

/X 2.1941

/X 3.1978

o 42013

Question ID : 5038906235
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Q.2 = & forg sireelta Rk Qd iR &1 ST+ ATk urfeReara d gam?
Ans X 1. aRATY GETe

X 2. e

75 3. didt s

W 4. R s

Question ID : 5038906226

Q.3 R gfd fAwai & e =es o1 ik ueftes &:
Ans K" 1 g ol I i

75 2. g & uRfafor

X 3G

V 4 g FmmIny

Question ID : 5038906224

Q.4 Afderr it drerdt & fAedt 7 @ fears Ear @2
Ans leﬁ?ﬁ

/X 2. wd et

W 3. sFar e

75 4. s ar@ v

Question ID : 5038906223

Q.5 3o feemt A fope wear A forauita Y wira=m H?
Ans x1;|-ﬁa:|1§—

X 2.3

W 3. R

p R

Question ID : 5038906231

Q.6 fre Wk GHeHTA SherTeptz i SR 1 FRAFERR" & A | ST ST 82
Ans X' 1 wewor O

75 2. qu e

o 3. ot T

75 4. yawer e

Question ID : 5038906237



https://t.me/DSSSBTEACHERS1

Q.7 &g ot & wgrara gy @1 9e gtaw g 1fct @ fAmfor gam:
Ans  off 1. goror et

X 2. e

X 3. e e &

/X 4. e

Question ID : 5038906233

Q.8 Azrviet @ ure araenfoft gaft f ufaw SfSa d:
Ans (1.\12:11@131@

Question ID : 5038906219

Q.9 ufdrg qfdierz ud Afen @ urdi= dmmelt 7fe e A snyfererar «m= & forg st=m srar &:
Ans ( 1. w9 et

X 2.3m

75 3. et gt

/X 4w B

Question ID : 5038906229

Q.10 wrhit= 1<a & =11 Rt hedn o o | vfera oft?
Ans X' 1 g o dufele T & wu §

W 2. o wsd foed w81

#< 3. fég enf Qraar A

75 4.9 et eRole T % R8T

Question ID : 5038906227

Q.11 3iSIfel 3T A9 Al MR Tep1R Z1¥1 w12t & forg =1 & gwnfaa forar man?
Ans X' 11955

o 2.2000
7% 3.1964
/X 4.1984

Question ID : 5038906236
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Q.12 IR H doiiR Aeft & Foft sy arg sira o
Ans  off 1 gnfi e vd dEd W

75 2. aret ol g wehd) W

X 3. FEw

X 4 R W

Question ID : 5038906232

Q.13 yfes WIRdra Ffder fSrgia ufthes seTerR & wu 7 @ifa sifsta fi:
Ans X" 1 gdfR tor @EiR

X 2. s s

75 3. g emuTe

o 4 T ER

Question ID : 5038906222

Q.14 fam=r o & ford syfaes wiedta gfderer a1 sT=en wT=n ST 82
Ans X" 1 3t yre 3 ed

o 2. e A

75 3. e Rig

75 4. wofi 1o e

Question ID : 5038906220

Q.15 @1 R 7w & TN T fRA01 A A1 e < w1 g 2014 F AT 61 ST ST
™

Ans  off 1 it e
X 2. myg st
/X 3. 3R ssh
X 4 oo gl

Question ID : 5038906230

Q.16 md & digal fora & w1 gfder g snyfae widhta gfdeer o1 s+ war srar &:
Ans  off 1 fER A

X 2. vgdar

75 3. ot e

/X 4. e e

Question ID : 5038906238
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@R e:
781

Question ID : 5038906225

R Hi=r gt g e few ‘g e arses ge watet e areas J =+ 82

Question ID : 5038906228

rr qfcientR fi=TeRT ST=01 simrer & aigpeT d gom oT:
TR ST

e

ERCH

T et

Question ID : 5038906221

wHarenl 7 fora Wity fRAe1R At W et &1 SiaR SHgr?
Y &R

g

fr

Question ID : 5038906234

5

¥ Ter Aoft & 1 8 A/ e, fer- a3, a3, ot ag Feeaa g
gof

3 guf

ot gof

[ gz gof
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Afd F fRmror fora s &:
Jepeal § § S TE

& SR 79 TdE R

& sifaw et adg W™

& sifae ficht I R

Question ID : 5038906252

g, o wd grur ot wfFifera e arelt g shetteras nifafafe foraenr Sg2a w@aar

arar g

F feomsa

Question ID : 5038906247

:h changes its direction repeatedly is called:

ght line
hemic line
il line

ed line

Question ID : 5038906258

g

Ye foifén

Rrsror

Question ID : 5038906251

pfemi uefter @:
1, @l &1
3, g &1

I, QehdlT <hT

Question ID : 5038906249
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¥ o sitfedest amé &t wiToAT e 47
3

7

Question ID : 5038906242

s related to:

a Mandal
ressive group
ata Group

\bai Group

Question ID : 5038906241

1 St et
eft A
are Sreft
el

Question ID : 5038906243

ough which form is created, is called:

tic art
ract

Arts

Question ID : 5038906256

‘operties does a colour have?

Question ID : 5038906248
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ris mentioned in the Natyashastra for Shringar Rasa?

[¢]

Question ID : 5038906253

=0T gt &
FHac

rufafd
SEE]
I el

Question ID : 5038906244

1 forepT frerm 9 71 2021 Y gaim WI=eta et Sria # fore feren & ot nfdrg 47

B hell

Question ID : 5038906240

1ent that attracts a consumer in any graphic design is:

ogram
je
an

le mark

Question ID : 5038906246

RIT T |19 7Y &

Question ID : 5038906254
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id detailed history of Buddhist era arts is available in:

asollasa
ashastra
‘a Lakshana

vistara

Question ID : 5038906255

& ifeh ST EUT ST FIEH g3
77
i

ma

Question ID : 5038906250

"R & ot gfel it Rerd diep oifw 3o = Reeeft A v g forem ammar &2
ERCH

1127 et

R IS

e I et

Question ID : 5038906239

g YT dATeTde fohe el § Heifda 82
<1 et

et

are et

a el

Question ID : 5038906245

rg
18
&hIR <hl hiTsT

TR T HIAE
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7 uferter & Rigia w smarRa ufafd &:
TR

TRt

o

T

Question ID : 5038906269

) &t =g faiwar &:

RN Gh TUThR

Tt SRR

SRY B Terafredr

Question ID : 5038906276

s following are cool colors?

Yellow
, Red
n, Blue

ige, Red

Question ID : 5038906262

% g1 & uuH urepfaes did 3R g8=1 gfoa uia ga gedita-
tict

GRIG)
Reic
iG]

Question ID : 5038906265

arg:

Question ID : 5038906261
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e ursl R st guraaar frag I Ry v @2

Question ID : 5038906277

guf d@ge @A 6 ges ufafd &:
9TRes Tger (Informal balance)
Iohed! H @ IS

o f7 (Law of areas)

fkes Tge™ (Formal balance)

Question ID : 5038906270

painters display their experience, shortness, value, design and artistic
gether by lines at:

ta
ami
1betka

a

Question ID : 5038906272

SIFER AR, 20T 8
1 B R, 9, 2ftren 3R AWR <A1 e gt

Jepeat § F g TE
=it & w07 & 1y Fied o1 e 7@ R g g
F MietreR & RIfT & T SmuuT o1 i &A g

Question ID : 5038906274

ment is true with respect to two-dimensional drawing?

slification of form and colour
fow light
ar perspective

ralness of form, colour and texture

Question ID : 5038906275
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1apters are there in the Chitrasutram of Vishnu Dharmottara Purana?

Question ID : 5038906271

o farufeh sif o &l 8:
ITSHT

7, Tehd, 21fh

e, gor

T, v

Question ID : 5038906266

TaTE o & forg wgeh gk ufafa &:
iy

fa
)

YhIRT

Question ID : 5038906273

T H R eierTer & forg fong 2ree vt vt e mam @
AH
o

Ao

Question ID : 5038906263

ance is:

loser to the center of small forms and away from the center of big forms
1s of equal weight are equally spaced from the center
ear the center of more attraction and away from center of less attraction

2 of the other options

Question ID : 5038906268
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ot &1 98 frgia g forad:

Fdi 9 fo & giche v &

i oYa et A foma ST &

Tt & fARefe faareor @ aama ava &

Question ID : 5038906267

ng
o], 9Ydr
T, AfgH, i

Question ID : 5038906260

M &1 fRigia” a1 ufeares waTeRiR gfaets A ferar ur et d@au ur?
g

toram &

T8

g

Question ID : 5038906264

e, e
Prem, e
e, IR

Question ID : 5038906259

3

& I srguat i aegeit A dew i & sferi, e, e Fu sl @ Rreraror
u & fogufdrg @

RUE
1T Hgilel
T gR
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hadow is:

shadow that appears on an object
2 of the other options
fow of an object falling on the ground

low of an object falling on another object

Question ID : 5038906284

T TheU=R"' ATHh Y&ich fohd shelTariR A forddt:
for e

ERIREICH
3

it

Question ID : 5038906288

ka2 2 o g ags sroet erpyferal it et gde g Sahal & g1 g9
i fOrad gavr afh wwnfaa gt 3= sl Y srgfar . ag &= frent &:

&
i ofeirae

Question ID : 5038906285

SI=H T T
x|

ST H

2 H

Question ID : 5038906290

Y veiferfier g Ry =iToaT i
3} H
3
) H
3 A

Question ID : 5038906293
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& STAQR Y WATYAT el g3 ot

Question ID : 5038906295

T Ao fFRa &:

Question ID : 5038906296

I IueTes Harst Ut Ui " Sretrarry” it foRe 1\ & S STven 81
& e

1T T8

fraqz & Ter
B

Question ID : 5038906297

) the rules of perspective, parts of objects are shrunk and drawn during
natural 3D visualization. This is known as:

re Expression
hand drawing
shortening

expression

Question ID : 5038906282

HHE & AT T T FoIT I 5T-H I §:
e

TeRT

Question ID : 5038906298
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ISTeRTR el Tl hT THTE hgl TAT?

% ga
g. g
EA TS

Question ID : 5038906281

I 7Y heAT 3l & arffeRvor <hr SmTenR @:

Question ID : 5038906286

rative artist who is also a sculptor and mural painter:

1l Das Gupta
inandan Sharma
amachandran

nat Shah

Question ID : 5038906287

&d W=k 1St Y (Ferd) ore &
TH (GMS)

qH (GSM)

4 (GPM)

3R (GPR)

Question ID : 5038906280

A erifafaehas & et ye= it =TT <Y
k]
k)
x|
| &

Question ID : 5038906294
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sorret” foRew & forg fore wetTaRiR ot Fhew thaR gReeRTR wgT= faRam mar?
TS

% g8

Agan

A

Question ID : 5038906291

g3 31TE & R A fa=ferfea & & o= / Si-d sy aa g / 82
RUReR shefl ATAHT T SUFNT 5! hed

goft fRreheT Tt &

ST & WM IR ARKISEh &l THIfd Rl &

ufehar Agagof gt &

Question ID : 5038906279

a1 FATRIR &

TeR1eT T

R gt

T g

Question ID : 5038906283

ATR et M1 TReR1R 7 1971 # fohe yreente & wwnf~ra foman?
i

T

§or

J QTHR

Question ID : 5038906292

)

ting is

1er inanimate or animate objects

ting of animate objects

ting of both animate and inanimate together

ting of inanimate objects
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o & 0 e @ &2

TR, M aler

Question ID : 5038906309

frere dafda &:
sRfaa

T &

oK

Bk

Question ID : 5038906305

correct sequence of landscape painting:

ching, colouring, viewfinding, using paper taping
finding, using paper taping, sketching, colouring
ching, viewfinding, using paper taping, colouring

g paper taping, sketching, colouring, viewfinding

Question ID : 5038906311

outline which makes the form more distinct
total length of the boundary

line of an object which is drawn with control to show the objects properties,
irection

1ake small changes to the shades of color and paint it from light to dark

Question ID : 5038906316

slated to mural (wall painting)

pera
f the other options are true
blo)

ffito

Question ID : 5038906303
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a2ftS TS Sre off:

K]

Question ID : 5038906308

r faf swehl =g fafa &:

Question ID : 5038906306

&F vt R 0 ux form ) &' for Rsren? o1 ufig R @2

frzma
gssR
HEELI]
aa

Question ID : 5038906307

ot ofiw &g

Question ID : 5038906302

1 Sft 3137 <hT 3Tt AT &:

A

Question ID : 5038906318
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& I e fdgrs gt wR sifchd 3@

a1 e gt figeit & woft dieraa Fard faef gt &

a1 e o figat & @it aamiar Bfast [ faei= gidt §
¥ g @ oI arett @

Question ID : 5038906315

& fore grean ar 7or W= R o &
o e

T

Teeh faaR

T IR IR & &

Question ID : 5038906304

e d It A amar @
fe, ot

qoft farered

ar, i

S, e, &

Question ID : 5038906312

ris a:

stable colour
ined colour

hetic colour

ral colour

Question ID : 5038906314

graphics, changing the size of an object is called:
ng

)sitioning

islation

tion

Question ID : 5038906301
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< SATiRH Mg ZIRT fope s A<t <t argran fear man?
7 9eft

it
o eft
Sreft

Question ID : 5038906310

M §9g ST & HeATHRIR &
T et siieft, droa =@iae

T v, GRRT 2
I, geeiid e
7 & i, kg & emf

Question ID : 5038906300
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s following should not be an objective of art at the upper-primary stage?

n proficiency in the art form
2learners more creative
rience joy/enjoyment

2 learners more aware of the nation’s rich cultural heritage
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he following stages should theories, including knowledge of
ry artists, their styles of working, paintings etc. should be introduced?

er-secondary stage
’r-primary stage
r-primary stage

ndary Stage
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